632 miEE sECER sELant »www.iwata-fa.jp  EED s&w5#E# » monodukuri.iwata-fa. jp

t E ) o g
M8 tURIL NS 1T PB

CHEDY A XITH. HED SRIELET .

L B4 0 mm
P
2.¢d
T
NG o
|1
L
4-C1
M 2- XA AILS BT R
|i|\g B
! + as
< |\| |

MERENE
$% SS400. 2%
27 > L X SUS304

RERIL

ePeF (Rt - A E - P e -

SREERIL b FETE 1 mmEAL fii4& (M)

FIAS o xTJEYF ¢od N . H L T z s
Mo N@eR) | HGEE) SK(RED) | AT LR
4 | M4x07 - 3.5(M3M) 5~15 | 12~15 | A+ 5| 25| 10 1,210 1,760
5 | M5x0.8 - 4.5(M4f8) 6~20 | 15~20 | A+ 6| 32| 12 1,320 1,930
6 | MBX1.0|M6X0.75| 5.5(M5F) 7~22 | 18~25 | A+ 7| 38| 16 1,540 2,200
8 |M8x1.25/M8x0.75| 6.6(M6H) 9~30 | 21~29 | A+ 9| 44 | 19 1,760 2,860
10 |M10x1.5|M10x1.0| 9(MSF) 11~35 | 26~32 | A+11 | 50 | 22 1,980 3,520
12 M12x1.75/M12x1.0| 11(M10M) | 13~40 | 33~43 | A+13 | 65| 25 2,750 4,620
16 |M16x2.0|M16x1.5| 14(M12/) | 15~45 | 39~51 | A+15 | 75| 30 3,630 5,500
20 |M20x25|M20x15| 14(M12f) | 18~55 | 44~76 | A+18 | 100 | 32 3,630 5,500

E ................. */-H-{XM_*]G
..................... HAEFE A = 20mm

BPBF 16 N A20 P40 Z

5---7/t 9% = NGEE) oo RERE Y F P = 40mm

”
’

iwata





